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(i) AII the four questions are compulsory.

(ii) All questions carry equal weightage.

1. Answer any four of the following in about
150 words each :

(i) How are national .resources related with
economic development ?

(ii) What are the characteristics of social change ?

(iii) What factors led to the growth of Indian
nationalism ?
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How is interaction amongst countries related to
interdependence oI countries ?

What are the major achievements of UN with
respect to international understanding ?

How are terrorist movements and
organisations posing a threat to world peace ?

2. Attempt any four questions of the following :
q

(i) Divide *u3U - 8ab2 + ab - 8 by 4ab.
+

(ii) Factorise i

x 2 + L 6 x + 6 3

(iii) Solve the following equation and verify the
solution : .

' 9 x - 4 5 : 3 x + 1 5

After 15 years, Ramesh will be four times as
6ld as he is now. What is his present age ?

Construct a triangle ABC such that
a + b + c = 7 2 c m .  Z B : 6 0 "  a n d
lC:45 where a = BC, b = CA and
c : A B .

The length of a cuboid is 4 times its breadth.
Its height is one-hdlf its length. Find the volume
if the breadth is 4 cm.

(iv)

(v)

(vi)

(iv)

(v)

(vi)
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3. Answer any four of the following :

(i) How is gravitational force useful for human
beings ? Illustrate with examples.

(ii) What are different types of machines ? What
type of machine is used when a water bucket
is pulled out of a well ?

(iii) What are the base units of the following ? Also
give the symbols of these.

mas3, time, temperature, luminous intensity

(iv) Give three renewable and three non-renewable
sources of energy.

What are different methods of separating
components of a rnixture ? Explain the process
of separating sand and sugar.

Classify nylon, polyesters, terylene, bakelite,
resins, urea and formaldehydes into
thermoplastic and thermosetting materials.

Answer any four of the following in about
150 words each :

List factors affecting the properties of soil.

What are different methods of sowing crops ?

What is the differen ce between manure and
fertilizers ? What are the methods of fertlllzer
application ?

4.

(v)

(\d)

(i)

(ii)

(iii)
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How do seasons change ? Explain with 'the

help of diagram.

What is solar eclipse ? How does it occur ?

Illustrate with the help of diagram.

What is air pollution ? How does it affect the

ecosystem ?
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srqFffi qr-d.frfif qi q$flq d
qTTIUI-T{ (fr.*.Tfr.y

S.*.t mfq1m z
wiil Tfrsr

Rgqt, zooS

{qu. .2r8, frqd d eTrqrt

WIzl : S q"t qfEqvq ,ufrdT : 7oo/o

qle :

H slf wd,'w+ atffi d r
(ii) vrf tY+ 41 ,ttfrdT sqra p 1

l. Fffifuflc'd fi n ffi an wit * em ffqq I
x*s strr wTrrq rso lr<) fr Aqr qrFq :
(i) {rfr {iTtTwr, e+tffis fsrs t f*,s *Ffr

qqF*rd t ?
(ii) qrqrFss qFgtq qfr er M t U
(iii) 

".frq 
trFqrq qi gk Aq q;Tlql iln d ?
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(iv) t{fr * dq orqHrqr (qr*qt-frqr), t{il +1
qqqq-f{rfwr t ffis r*,n qqF*rd t i

(v) sid{i$q frFr (qr{l + Ti+f fr riTs W
(%qq.) fr xgu srotuef wr t I

(vi) ffi qifu{ efu ltqd{ f{rE {rifr * ldq
fuq s6fr cflr wr q..t G t u

z. Frqfrtur fr + ffi an wii q) w mRq :
q

(i) 
iuto 

- 8ab2 + ab - 8 s1 4ab t f+{rfd
q \ r

I;ur'rcos st :
x 2 + 1 6 x + 6 3

Frqfrfud rrfrqlsr q] eo qt aqr strr sr

(ii)

(iii)

(iv)

(v)

(vi)

9 x - 4 5 = 3 x + 1 5

15 qf ER {+{r +1 e+rg Efm {dqr eng t
fu *fr r sg*t {SqH sil-g EdEq I

lrs tgr ABc f{gq {dTqq fr
a + b * c : 7 2 c m ,  l B = 6 0 "  3 i T
ZC: 45" €t, wd u : BC, b = CA silt
c : A B t  I

l r s q n q d r f f i s f f i i f f n n U r t  r
{s-*i t=,qrq {wir ff t sTrrfr t r qFq !H
+ tq1 d, a) {ffsr sTr{rtr{ ara +1Fqq r
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B" f{qff,fud fr t P5q1 arr * wt {Feq :

(i) g{ersfq q6 q-gff + fdq F+q r-frR wq}'fr

t ? r{il{uil sRI ss dfdq I

(ii) qntif * Apn )riF'K FIT t : qq Sq t qifr
*t qa8 q] qa Sqr qrfrr t A.fuq xon q1
q{fr{ q.r s'fr'r fdqT wor B I

(iii) frqfrfud +1 BrTtrlirtd FIEsf er t ? {<t
dhdrqT{ (fuS7syp66rnfu) rft qilr{q :

{1fr, grI{T, dTrfrtF[, G*fr dtrdr

(iv) o'qt * ft-{ qffiq q}n 3ft fi-{
erd-{H{utq e}d trdr{q r

(v) finl fraq * tr{Sf 6} 3q-ffi-366q qt$ qfr
frF{-d Flttqf wr t ? ta aqr qtfr d eqmi
m<+ 4i YFx.qr 41 qpq*rfr frFrq t

(vi) qr{dq, {frrgut, ddifr{, ii'sr{a, tffi{,
TRqT 3i{ qt{R€ET{s q} Effim el),{
qffiPt r{rril t E'trF-d ffiq t

4. FFqFdfud q q ffi an xqit t stt {tqq I
:rd-+ sf,'r e{qrr 150 {rqt it d ,
(i) go t Eq{sir d qqTFd s{i ErA qTtqit qfr

qqi EqFq I
(ii) s-sdf qir qlt qfr nnra ffinf wr i' z

{iii) rqE sft B-ffif + ftq wr er<r i ? sdr6
q-glqr qfi frfuqf eqr t ?
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(iv) xgq f*T :r*n qReftn *'fi t i fue rnr
q{sFq I

(v) S-rro"r wr t ? zn *fr *6r t ? fur aRT
ws *1ftq r

(vi) qrg F-{qur wr t ? zn qrRRqftrd-dr s} fus
rsn yqTfud mwr t ?
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